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Guys | have a bad news

This Serie covers a new topic: the discrete Fourier transform (DFT) and the fast
Fourier transform (FFT). This topic has not been taught in the last few years, so feel
free to ask if you have a question.

I'll have to talk with Prof. lozzi to give you a precise answer. But | guess it was more about providing them insight
into the DFT and FFT. The multiple-choice question might have a short question about the DFT or FFT in the
exam (but I'm not even sure), but | don't think there'll be an open question about this topic.
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N =10° N? = 10° Nlog, N = 10* 100 times smaller
N = 10° N? = 10%? Nlog, N = 2 x 107 50,000 times smaller
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